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Question 1 SNt
scording to the circuit bellow: solial Bl e \alae)
O ©

= 12V = 60 in
-Find the reading of ammeter A,. A ) Beld aa -
-Calculate the reading of ammeter A,. A sl belf cual =

Question 2 )

ne figure represents a circuit. -
AilagS Bla Jsan &
. Bydlal) Q‘i A8\ A 9\ Ral) s

alculate the equivalent resistance in

1e circuit.
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S is closed.

- Calculate the current in .(R=1002)5(R=6 Q)
R=6Q and R=10Q.
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Question 5 SNl
By analyzing the units: clangd) Jalady Ci
— What does the tesla unit equal to in AV Yld)) Baay (Goladd Vila -
terms of newtons, amperes, and meters? ¢ sally Jasa¥ly 55 gaill
T ol SO SR IS RO
venes BONUS seeee
Question 6 Jlgaal)
As shown in the figure an electron dyady 0958 (JSAD A G sa LS
moving at a velocity of (V=720m/s), Jaa A Ja ( V=720m/s)dc
enters a uniform magnetic field of - (B=2.4x107"°T)akitia juilaliia
(B=2.4x107"°T). 09 AN Eold ) -
- Calculate the acceleration of (¥ il 56 Jata)
the electron.
('gnore the effect of earth gravitation)
X X 5 3 X
2 TS+« xR
X mac BX
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